TR SMALL TYPE ROTARY HYDRAULIC CYLINDER Thru-Hole / Hydraulic
WITH THRU-HOLE AND SAFETY DEVICE

This is a compact, short form, light weight through-hole rotary cylinder.
With patented build-in safety check valves and pressure relief valves.
Large feed port and drain port, large input and keep drain smoothly.

Can be screwed from the front end or rear end of cylinder when mounting.
For use with vertical or horizontal spindles.

Linear sensor can be attached.(optional)

= Patent numbers :
PAT.NO.M491534(Taiwan)
PAT.NO.ZL201420584274.5(China)

Q1 P . L2 6~L1
»5 95 6~V2 wﬁ = s
! 1 i)
S N1 [ ]
S -
] = T I
81 o) \ ﬁmgN*M@ L w A o m
N — )
2x2~Q3
Pressure Port | L] g ff—‘ﬁ | | M
U1 f\ U1 4~\W2
B i
Z
Drain Port J Z1
G2 K G1
I
Subject to technical changes
J ’ N
SPECIFICATIONS
Eff. piston area . . . . .
Piston stroke Max. speed Max. pressure Moment of inertia =~ Weight Total oil leakage
Model Extend Retract
cm? cm? mm min”(r.p.m.) MPa(kgf/cm?) kg * m? kg lit. / min.
TR-539 72.4 67.1 15 8000 4.0(40) 0.010 6.8 3.0
TR-646 105.0 93.9 15 7000 4.0(40) 0.015 9.5 3.0
o TR-853 135.3 125 20 6300 4.0(40) 0.032 115 3.9
(@]
;_>' TR-1075 170 155 25 4500 4.0(40) 0.065 18 4.2
Fel
<
0O TR-1291 234 217.5 30 3500 4.0(40) 0.092 29.5 4.5
<
z DIMENSIONS
% Model A B C D = B G 62 H J K L L1 L2 M1 M2 M3
w ode 1.D. h7 max. = min. | max. min.
TR-539 107 143 125 125 110 52 15 0 34 19 4 97 133  6-M10x20 M8x60 12 | M45x1.5 25 12
TR-646 128 165 147 147 130 65 15 0 34 19 35 97 135 12-M10x20 M8x60 11.5 M55x2 25 13
TR-853 145 185|165 170 130| 70 20 0 47 | 27 4.5 1185 160 12~M10X20 M8x75 12 M60x2 30 15
TR-1075 170 212 190 190 160 95 | 25 0 52 | 27 4.5 129.5 181 12~M10x20 M10x1.5 16 M85x2 35 15
TR-1291 200 248 | 225 215 180|110 30 0 59 29 5 146 |240.5/12~M12x24, M10x95 16 M100x2 35 15
Model N1 N2 N3 o1 02 P Q1 Q2 Q3 R S T u1 u2 V1 V2 W1 w2 Z Z1
ode H8  Hs g7

TR-539 M44x1.5 25 | 42 39 925/ 65| 26 RC1/4 42 40 103|525 55 53 M5x8| 90 @ M5x9 RC 1/2

TR-646 M52x1.5 25 | 50 46 95 5 | 32 RC3/8 50 50 116 59 62 615 M5x9| 98  M5x9 RC 1/2

TR-853 M58x1.5 30 55 53 114 8 34 RC3/8 56 | 50 128 65 67 70 M5x10 110 M6x11 RC 1/2

© 0  ©© o

TR-1075 M84x2 33 80 75 1235 12 40 RC1/2 81 | 50 164 83 86 95 M5x10 155 M6x11 RC 3/4

[, NS, RN, BRG]

TR-1291 MO9x2 9 38 95 91 139 14 45 RC1/2 96 K 50 180|91.5| 93 [110.5 M6x12 165 M6x12 RC3/4

*Coolant Collector and Confirmation Device Please See Accessories pages.
73 AUTOGRIP





